5] R R PR R R ol 2 i A\ Tk EH IR B SR R

(% A) (HAL . TH, %)
R 2 4 Wk 2 34ERE bei I 5 HEJE =R
X 43 PEKA lidnd=a P EKA Rk bt (A)-(B) (C)/(B)
(A) (B) (C) X 100
1. R B R B B 1, 525, 839 26.5 1, 504, 923 26. 8 20, 916 1.4
2. — B A #H 4 - - - - - -
3.0 & K O A & 36 0.0 38 0.0 A2 A5.3
4. fF A B kR OV F o - - - - - -
5. e 53 H 4 1,516, 641 26.3 1, 530, 341 27.3 A 13,700 A0.9
6. E B WK M B HE XM 4& 164, 269 2.8 208, 047 3.7 A43,778 A21.0
7.0 M & W o F R N & 725, 524 12.6 642, 986 11.5 82, 538 12.8
8. & * H & 366, 299 6.4 295, 109 5.3 71, 190 24. 1
9. & [ F 2 & 665, 713 11.5 681, 414 12.1 A15 701 A2.3
10. B pE 1% A 60 0.0 3 0.0 57 | 1,900.0
11. H & 599, 808 10. 4 647, 526 11.5 A417,718 AT 4
12. # ik & 190, 163 3.3 83, 377 1.5 106, 786 128.1
13. 74 1% N 11, 475 0.2 16, 062 0.3 A4, 587 A28.6
% A & z 5, 765, 827 100. 0 5, 609, 826 100. 0 156, 001 2.8
(7% ) (AL : TH, %)
Rk 2 4R Wik 2 34ERE O A T =R
X ol b X HERR HE P HERR HE (A)-(B) (C)/(B)
(A) (B) (C) X 100
1. % bE5 # 85, 148 1.6 89, 615 1.7 A4, 167 A5.0
2. P& ES e fF % 3,311,916 62.3 3,348,518 64. 0 A 36,602 Al 1
3. % Ml | ol B OB e 778, 589 14. 6 718, 545 13.7 60, 044 8.4
4. B1 B m W EHE WM & F 795 0.0 2,133 0.0 A1, 338 AG2. 7
5. % N R @ W W & 37 0.0 44 0.0 A7 Al15.9
6. I° E b fF & 383, 345 7.2 363, 027 7.0 20, 318 5.6
7.3 R OE ¥ Mo & 627, 307 11.8 610, 268 11.7 17,039 2.8
8. & it L ES iy 34, 898 0.7 35, 526 0.7 A628 Al.8
9. % A& = 3T 4 55 0.0 - - 55 g
10. A 15 % - - - - - -
11. 53 H & 93,116 1.8 60, 987 1.2 32,129 52.7
% H & z 5, 315, 206 100. 0 5, 228, 663 100.0 86, 543 1.7




